AMA Memorial Talent Search Exam — 2023
(Booklet Code : B)

Full Marks : 100 Time : 2 Hours

Directions :

1. The Question paper has five parts. All questions are to be attempted.

2. Four alternative answers are given for each questions but only one is correct.
You are to identify the correct answer and darken your choice with blue/black ball
pen on the answer sheet. Over writing is not accepted.

Sub : General Science

1. How many bones present in human ear?
W2 FITS (FRTI QT SR ?
a) 2 b) 6 c) 10 d)9

2. Which is the hardest non-metal ?

(IO TG ABIRS(F I ?
a) Silicon (&#==)  b) Sulphur (F==E)  c) Diamond (2¥)  d) Bromine (@13 )

3. The presence of which of the following prevents coagulataion of blood inside the human body?
TS TLATIS (FICHE THAZOS A (MZT© (OF (NG TS AT 27 ?
a) Fibrin (F13fgw) b) Haemoglobin (&= gif<e)
¢) Heparin (@=if<=) d) Thrombopastin (&=’ iif3=)
4. Vitamin ‘C’ helps in the absorption of which of the following?
oo Il K1 (I CHiTFel Fere feBife <C* (1 721 3¢ ?
a) lodine (@°&F)  b) Calcium (F=AN)  c) Iron (V&)  d) Phosphorous (F2&41R)

5. Radio waves are found in the -

Qo ©Fe ... CHIT IR
a) lonosphere (AIS) b) Troposphere (3"®<)
¢) Stratosphere (85°% d) Thermosphere (¥3{"%3)

6. Chemotherapy is mainly used to treat the disease of -
......... T fofpeat AMta edive @ TN LT F91 = |
a) AIDS («3TR) b) TB (f5f)
c) Cancer (FF6CE1) d) Polio (sferer)

7. The liquid which is a good conductor of heat is -
©15fq FAfRIR) wTeIfy R -
a) Water (511 b) Hydrogen (23g (&)
c) Mercury (=111) d) Kerosene (<)

8. We can create enlarged, virtual images with -

......... 3 Tz fafis, aoie affeli g vfaa A
a) Convex mirrors ($@« Witoll¥)  b) Concave mirrors (SIS WICH)
c) Plane mirrors (3Ta7oeT WICATH) d) Concave lens (1997 (F19R)
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9. Which of the following is a neutralization reaction?
OETq (FIFCoT 2w i 2

a) Na,O + H,O - 2NaOH b) 4Na + O, = 2Na,0
¢) NaOH + HCI - Nacl + H,0O d) 2Ca + O, > 2Ca0O
10. All enzymes are -

ERIGIRCN el T
a) Carbohydrates (¥14°213tg5)  b) Hormones (23%¥)
c) Proteins &°5+) d) Blood Platelets (¥& Seb{e<1)

11. The Sl unit for which of these is named after James Watt?
(FIGIR S| AFF (STND A6 TN TN T (20T ?

a) Temperature (8%®)) b) Power (F3el)
c) Force (3%1) d) Current (e 21R)

12. The gas associated with green house effect is -
CTEER OIS 1716 TG (IR{TY & -

a) Oxygen (SfHCe)
b) Suphur dioxide (2T T2 THI2T)
c) Nitrogen dioxide (T35’ (S uI2 SIH2T)
d) None of these (45ie 723)
13. Deforestation results in -

fRaaeaTs Ters -

a) Acid rain (42T 3970 27)

b) Green house effect (T8 97 2ol 27)

c) Increase of Oxygen content in the atmosphere
(IFNGTS SFCES “Af< AICP)

d) Decrease of Carbondioxide content in the atmosphere

(AN FETCI2 THETS A FCA)
14. Which part of the human eye is used during an eye transplant?

BF FALINT TS 5FF ... G IR I T |

a) Retina (o) b) Iris (SN2f¥D)
¢) Lens (G7) d) Cornea (=)

15. Sound can not travel through -

a) Solids (¢o115t) b) Liquids (ST
c) Gases (C712) d) Vacuum (CSF<I)

16. Which of the following is not an insect?

weTe Wl e (P! 2leee 727 ?
a) Cockroach (s2It5) b) Bed bug (<5T)
) Mosquito (3R) d) Spider (¥<¢<T)
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17. What is MRI ?
MRI & ?

a) Magnetic Record of intestines.
b) Magnetic Recording of investigations
c) Magentic Resonance imaging
d) None of these
18. The first metal used by man was -

A2 A2 T AT gy ifee -
a) Gold (GT9) b) Silver (7))
c) Copper (1Y) d) Iron (¢eT)
19. Which one is not a metal?
(FICH! 41 72 ?
a) Sulphur (RTFIF) b) Sugar (%)
c) Nitrogen (2&°&=)  d) All of these (BIZFCF20Y)

20. At 30° C, which three metals are all liquids?
1 fofb1 g 30° cRefeaize Geia wegre AT ?
a) Hg, Fe, Zn b) Hg, Sn, Pb
C) Zn, Pb, Sn d) Hg, Ga, Cs

Sub : General Mathematics

21./729x 81 +19°+11="?
a) 651 b) 615 ¢)515  d) None of these (451 72)

22. If today is Sunday, what will be the day after 350 days ?
I wnfer 9419 27, 350 s foreg st e =9 2
a) Monday (@T=€19)  b) Sunday (3/<19)
c) Friday (¥@<19) d) Saturday (*f<1<)

23. Which of the following is a perfect Square number ?
o (0! sl e 27 2
a) 1067 b) 7828 c) 4333 d) 9025

24. Which of the following number is divisible by 3 ?
weT® Il (P! A2l 3 (I frorey 2

a) 5005 b) 2321 c) 111111 d) 11111
25. Which of the following number is not divisible by 11 ?

OoTS gl FICHT A2 11 ([ f[oey 7127 2

a) 536536 b) 8378432 c) 110110 d) 758043
26. A DEF is an equilateral triangle. If the side EF is extended to a point G then
find the measure of angle DFG ?

A DEF @51 731g fager| I EF =Bl G et dfms 41 23, (508 DFG (@M1 Wiof [Fw0ie 2
a) 60° b) 90° c)180°  d)120°



27. The vaue of v0.04++v/1.44++v/1.69++/0.00009 is
V0.044+v1.444+/1.69+/0.0009 I v 29

a) 1.73  b)2.03 €)2.73 d)1.03
28. Which of the following statement is correct ?

oo Al (FICH! Of e v 2
a) 7 is a rational number (r €51 ARTI 722)
b) ‘0’ is natural number (*| GBI, FSITF F22)
c) 1 is a prime number (1 @5t Gifere 37e2t)
d) % is a rational number (% BT /ST 3124)
29. A ABCis an isosceles triangle and 2C = 90°. If BC=4cm then AB="?
A ABC 951 3R3R fage @i 2C = 90° IM BC = 4cm 2 (S8 AB = ?

a) 4/2cm  b)2v2cm c)4cm d) 2 cm
30.Ifa-5= 1(1—4 then the value of ‘a’ =

i a- 5= L2 ot @ q T
a)7,2 b) -7, -2 c)-7,2 d)7, -2
31. Find the sum of first 37 odd numbers.
2N 37 Bl Sl AR (9T Sfered |
a) 1369 b) 1295 c) 1388  d) 13300
32. What is the difference between the sum of the cubes and that of squares of first 10 natural number ?
A W2B! FOIRE TR T (9 G 919 @972 #{14< w1 2
a) 2280 b) 2640 c) 3820 d) 4130
33. The ratio of two numbers is 3:4 and their HCF is 4.What will be their LCM ?
V0T RIS FATS 3:4 < HY ROIF V388 02CR 4 | A2l VOIS w1g3iges fewie ?
a) 12 b) 2640 €)3820 d)4130
34. If 0.764y =1.236Xx, then what is the value of (ﬁ) ?

M 0.764y =1.236x BT, (STI (%)atﬂaﬁmﬂ?

y+

a) 0.764 b) 0.236 c)2 d) 0.472
35.1f2*3=+/13 and 3 * 4 = 5 then the value of 5 * 12 is —

qM2*3=/13WFE 3* 4 =5 (SEIE 5 * 12 I T -
Q)17  b)vV29 )21 d) 13

ayx+y=1 byx+y+1=0 c)x—-y=1 dx-y+1=0
37. What is the smallest whole number ?

51TetF A 7o HeLICBT Rewre 2

a)0 b) 1 c)2 d) 3



38.

39.

40.

41.

42.

43.

44,

45.

NP

e

1 1
a)E b) 16 c)-g d) - 16
What is the smallest natural number ?

AIBIZSLF A< FroIF ALY 2

a)0 b) 1 c) 2 d) None of these (4518 72)
What is the difference between the smallest prime number & whole number ?
BITSF A (IferF AL ST HABIZOLT T FOIE AT Aero AL Faie 2
a) 0 b) 1 c)2 d)3

General Knowledge

T R

Which of the following cricketer is honoured with Arjuna Award in 2023 ?
(PG fFF0 SRR 2023 5T SE+ 061 #S PR 2
a) Rohit Sharma ((31f2s *ff) b) Mohammad Siraj (2w foarer)
c) MS Dhoni (4%, €% ¢4 d) Mohammad Shami ((Tr=2r=m =5t
Which country will organize the 19" G20 Summit to be held in 2024 ?
2024 HTS TIFARN 55%% G20 4143 T woTe Teafrs (FIe! s e &7 ?
a) India (°199) b) USA (Scf<<e)
c) ltaly (25t d) Brazil (Jifew)
Which player is honoured with golden boot in FIFA World Cup — 2022 ?
2022 5% (& (@RI W@IIER FoIe IS (TG (LR GO (Sl w1 FiC ?

a) Kylian Mbappe (FI2F19 Gsics!) b) Lionel Messi (ffrica1 i)

c) Christiano Ronaldo (fFERTa! @ten=) d) Julian Alvarez (§FRIM @sTeitEe)
Which of the following countries will host the ICC World Cup — 2027 ?

2027 5TS FIENRN ASSHEA [T41o! {01 WS (PNFEAT 2 -

a) India, Bangladesh, Srilanka (®1®, <=M, QAT

b) South Africa, Namibia, Zimbabwe (wf%el enfss, sifsfam, femig)

c) Australia, Newzealand (SCgferail, fAE&iceT)

d) None of these (4Ble 723)
Which Journalist was the receipent of Ramon Magswaysay Award from India in 2019 ?

(TS OISR AR 2019 HT© I (VTR 01 7S F(ECE 2
a) Punya Prasun Bajpai (%1 &9 ST

b) Abhishar Sharma (SifesTiR *rsff)

c) Arnav Goswami (S1fq ¢ar=ra)

d) Ravish Kumar (3@ 1<)



46. At present, who is the Chief Justice of Supreme Court, India?
TN OO THOY MRS I TR 71 & 2

a) Dhananjaya Y Chandrachud (4°&/ €312 5@p0)
b) Ranjan Gogoi (I& *1¢?)
c) Dipak Misra (A=< )
d) N.V Ramana (44.fe, 59)
47. In which year Gauhati University was established ?

RIS e e v eifsdt w1 tafee 2
a) 1946 b) 1947 c) 1948 d) 1949
48. In which year Kaziranga was declared as National Park ?
Fifeaere (Fioal 18R Twya f2piee el 11 ¢2fee 2

a) 1984 b) 1974 c) 1964 d) 1994
49. At present, how many districts are there in Assam ?

TS IS &l (F24 ?

a) 32 b) 33 c) 34 d) 35
50. Which one of the following tributary is not the North Bank Tributary of the Brahmaputra river ?

TS TR T (FIALF Tl AT TG 2I{F Al 7= ?

a) Subansiri (FTREMIR)  b) Dhansiri (<=f<) c) Manas (91®)  d) Beki (&)
51. In which district Burhachapori WLS is located ?

oIbIoifT SreRee) (@I forrs w&ige 2

a) Sonitpur (Cf=&) b) Sivasagar (F<PT9F) c) Jorhat (@<2B) d) Morigaon (I9i1S)
52. Which is the North Bank Tributary of the Barak River ?

I TN TEF AT TATAT FIACD! ?

a) Dhaleswari (¥@gt)  b) Jiri (&) c) Singla (k<) d) Longai (@Tesii®)
53. What is the full form of CPU ?

‘CPU’ 9 ™) |+1C61 6 2

a) Centre Processing Unit b) Central Processed Unit

c¢) Central Processing Unit d) Centre Processed Unity
54. What is the name of the launched Vehicle of Chandrayaan — 3 ?

DHAT-O T SLEFAT FI IZACGIF W [ @fe ?

a) PSLV - C57 b) PSLV - CS4 c) LVM3M4 d) PSLV - C48
55. On which date Aditya — L1 was launched ?

“qifre; G-y’ (FIFCHT SIS TCEFHT 1 (2fwet ?

Q) 2" Nov - 2023 b) 2" Ocotober-2023  ¢) 2™ September-2023  d) 2™ April-2023
56. Brahmos, the Supersonic Cruise missle is jointly developed by India and —

e G WRZT TS A ..., (e e Fffwe

a) Israel (2SEIEA)  b) Russia (F2) c¢) Germany (Ssif) d) France (F131)
57. The five year plan that began in 2012 in India was -
2012 5T© OIFee TN @R AAI{E 2P FAIO! AR -

a) Tenth Five Year Plan (%X #i2eif¥& =fqgn)

b) Eleventh Five Year Plan (43W* “izeifi& =fqzgan)
c) Twelfth Five Year Plan (a7 =i%eifd< “fa<sger)

d) Thirteenth Five Year Plan (@@= #%dif¥E sfa<g)
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58. The country where military service is compulsory for women —

AR A ANEE ETRT AGONEF 91 (1T T -
a) Turkey (@) b) Japan (S1%9) c) Israel (EERIEE) d) USA (SRS IS418)
59. President’s Rule was imposed in Assam for -

e s = wifs 9 t2feeT -
a) Two times (9d¥) b) Three times (fs7@1=) c¢) Four times (5I/"A1R) d) Five times (+if539)

60. The only country whose postage stamps do not feature the name of the country issuing them.

e 9F@ @I, 9 BHFGS AHLTT T SeggL AR |
a) Russia (I=AN) b) Iceland (SM26CE) c) Great Britain ((A5T52) d) USA (Itfs<! Io918)

Sub : English

Fill in the blanks with appropriate Article/Determiners :
61. Kalidasis___ Shakespeare of India.
a) An b) the c)a d) none of these
62. Copper is ____ useful metal.
a)a b) an c) the d) No article
63. Heis ___ heir to his father’s property.
a)a b) an c) the d) No article
64. She bought __ ewe yesterday.
a)a b) an c) the d) No article

65.  man is born free.

a) either b) neither C) each d) every
66. Are there __ orange left in the basket?

a) few b) many c) any d) none of these
67. __ of the student was given a pen.

a) each b) every c) all d) neither

68. She spent __ money she had.
a) little b) a little c) the little d) more
69. lam ___ tired & can do the work.
a) little b) a little c) the little d) much
70. There areonlya ____ girls in the class.
a) many b) little c)some  d) few
Fill up the gaps with appropriate prepositions :
71. We go to school __ foot.
a) on b) with c) by d) for
72. Dharmendra was married _ Hema.
a) by b) with c)to d) none
73. What is the time ___ your watch?
a)in b) at c) on d) by
Fill in the dotted space with appropriate forms of the verbs :
4. If1.......... you, I........ agree to the proposal..
a) was, will not b) were, would not
¢) am, should not d) can be, shall not.
75. A strongwind ___ since last night.
a) blew b) is blowing c) has been blowing d) has bown.
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76. She behaves, as if she __ everything.

a) know b) knows c) knew d) has known
The given sentence in Direct Narration has four choices in Indirect Narration.
Choose the correct option :
77. Father said, “I get up at 5 a.m everyday”.

a) Fahter said that he got up at 5 a.m everyday.

b) Fahter said that he gets up at 5 a.m everyday.

c) Fahter said that he get up at 5 a.m everyday.

d) Fahter said that he had got up at 5 a.m everyday.
The given sentence in Indirect Narration has four choices in Direct Narration.
Choose the correct one :
78. 1 told him that he was a fool.

a) I said him, “He is a fool.”

b) I said to you, “You are a fool.”

¢) I said him, “You are fool.”

d) I said to him, “You are a fool.”
The sentence below in active voice when changes to passive voice will read —
79. We see stars in the sky.

a) Stars are seen by us in the sky.

b) Stars is seen by us in the sky.

c) Stars were seen by us in the sky.

d) Stars were saw by us in the sky.
The sentence below in passive voice when changed to active voice will read-
80. Am | helped by her?

a) Did she help me?

b) Does she helps me?

c) Is she help me?

d) Does she help me?

Mental Ability (Reasoning)

IGIGE R )

81. Find out the odd one.
SeTCo! MR Tferex |
a) 51 b) 41 c) 91 d) 81
82. Which of the following diagrams indicates the best relation among Elephant, Carnivorous and Tiger ?

TS Al (FIo! BER e, MSTOG! A ™S Were AIF T (LI 2
29 hE® 9@ 9 ®o

83. If 3210 : 5432 then 6753 : ?
M 3210 : 5432 2T (S 6753 : ?

a) 8975 b) 9678 C) 7635 d) 5893
84. Find out the odd one.

eI AR Sferad |
a) Tomato (R=112))  b) Potato (@) c) Carrot (A&®)  d) Onion (f*=fe)
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85. 4. Find out the odd one.
o eTCo! AR Tferedt

a) 527 b) 639 C) 246
86. Fill in the blanks

AT 12 57 Tl

a_n b nch nch
a) bcabab b) bacbab c) abcbchb d) abbbcc
87. How many triangles are there in the given figure ?

weTe fral foathre (3201 fages @iee 2

d) 356

a) 45 b) 50 c) 55 d) 60
88. Find out the total number of triangles from the figure.
foas 7@t oo 7 Y fages e Sferear

a) 12 b) 13 c) 14 d) 20
89. Count the number of triangles from the given figure.
5@ 512 oo T fages e Sfered

a) 14 b) 15 c) 16 d) 18
90. If 526 =9 and 834 =9 then 716 = ?
M 526 = 9 &< 834 = 9 T (SCIRC 716 = ?
a) 20 b) 15 c)9 d) 12
91. Find out the wrong number from the number series.
wore Rl IANCGIT AT e ARYICE! Sfered |
202, 102, 55, 36.5, 34.25, 42.125, 57.625

a) 55 b) 202 c) 36.5 d) 57.625
92. Find out the odd one.

SfETH! AR Sl |

a) Manipur (I%%) b) Maharashtra (¥2/918) c) Sikkim ('2®%) d) Kohima (cf2ar)
93. Madhuri travels 14 km westwards and then turns left and travels 6 km and further turns left
and travels 26 km. How far is Madhuri now from the starting point ?

ML AN e 14 6., =9 F919 Pies Aewie 31 o 6 6.0, @59 3 M@
T AT AEATE T A B2 G3F 26 .5, T 1 7@ 9<% 741 912 ([79)7
LIRSS ASER R VS ICIC (o3

a)V180 km  b)v/80km  ¢)v100 km d) None of these (45ie 723)
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94. L is the father of N and P. P is the son of L but N is not the son of L. How is N related to L ?
L 25 N @I PS A2 | P 291 LT 7@ 58 LT 2@ N 72 | (STRe N 7>1%s LI 25 2
a) Daughter (&@<) b) Son (%@) c) Mother (rg)  d) None of these (4BTe 723)
Study the following figure and answer the questions 95 and 96.
weTo Al B! SGR FE 95 W 96 72 24 Y619 Te Sfel e |

> Educated people (s i)

s . Employed people (FSALZI?M (AT SR)

> Backward people (Pr27[1 @i WR)
95. How many educated people are employed ?

e S @IE FHAEINT TS IR ?
a)8 b) 5 c)9 d)6
96. How many backward people are not educated ?
e Presal @dl Wgg s 2
a)7 b) 5 c)9 d) 12
97. Geeta is prettier than Sita but not as pretty as Rita, then
a) Sita is not as pretty as Geeta
b) Rita is not as pretty as Geeta
@@, QIO ERIE @’JTW |
c) Sita is prettier than Rita.
e, STOLH LA |
d) Geeta is prettier than Rita
!, SISL LRI |

98. The ratio of the fathers’ age to the sons age is 4:1. The product of their ages is 196.
The ratio of their ages after 5 years will be —

JAF I 2roTq IR FIATS 2o 4:1 FReq 319 2[9e%el 251 196, (SR 5 IR
a)3:1 b) 10:3 c)11:4 d) 33:12
99. Find out the next term.
formg “mebt Tferedt |
-2,24,122,340, ........

a) 624 b) 726 c) 834 d) 915
100. Find out the next term.

foiRg Ao Tferea
2,6,12,20,30 ........
a)38  h)40 c)42  d)44
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